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Last week in the article on Indian players mention was made of Nigel Short winning the Gibralter Masters with 8/10.  This success follows closely on his winning the Commonwealth Champioship held in India in January.  Born in 1965 Short can rightly be considered the greatest British player of the 20th century.  Taught by his father at the age of 6, Short was a child prodigy who qualified for the British Championship at the age of 12.  In 1979 he tied 1st in the British Championship (losing the play-off) & was runner-up to Kasparov in the World Junior Championship.  He gained the Grandmaster title in 1984, the youngest ever at the time, the same year he won the British title for the first time.  Continuing progress & successes culminated in winning the World Championship Candidates KO matches which included overcoming Kasparov’s great rival, former World Champion Anatoly Karpov.  His much publicised 1993 World Championship match with Kasparov, which saw the setting up of  the Professional Chess Players Association in rivalry to FIDE, produced some wonderful chess but a heavy loss by Short 7.5-12.5.  His star seemed to wane after this defeat but his recent results show he is still very much a force to be reckoned with. Below is a position from Short’s earlier period (White v Vaganyan 1989).  While the exposed Black king does not get mated Black nevertheless loses a piece.  The 6 move combination involves such tactical ideas as overworked piece, fork, deflection & skewer.
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Now a very recent Short victory showing his attacking brilliance:



          N  SHORT    -    R  POGORELOV



                   2004 Gibralter Masters 



               Sicilian, Taimanov Variation



 1       e4   
c5  


 2       Nf3   
Nc6



 3       d4   
cxd  


 4       Nxd4   
Qc7



 5       Nc3  
e6  


 6       Be3   
a6



 7       Qd2   
b5  


 8       0-0-0  
Nxd4



 9       Bxd4  
Ne7  


10      Kb1  
Nc6



11      Be3  
Ne5  


12      f4   
Nc4



13      Bxc4   
Qxc4  


14      Bd4  
f6



15      g4  
Be7


16      g5  
0-0  



17      b3  
Qc6  


18      gxf6  
Bxf6



19      Rhg1  
b4  


20      Nd5!!(a)exd5



21      e5  
Be7  


22      e6   
Rf6(b)



23      f5  
dxe


24      Rxg7!! 
Kxg7



25      Qg5+  
Kf7  


26      Rg1 
Bf8(c)



27      Qxf6+  
Ke8  


28      Rg8 
Qd6



29      fxe6  
Qe7(d) 

30      Qh6  
Rb8



31      Bf6  
Qxe6  


32      Rxf8+  
Kd7



33      Qg7+  
Kc6  


34      Be5  
Rb7



35      Qh8  
Resigns  

a)  For the piece White is able to shut Black’s queenside pieces out of the game while White’s e & f pawns are able to advance & the kingside is rapidly opened up.

b)  If 22...g6  23 f5 (eg 23...Rxf5  24 Qh6, Rf6  25 Rgf1 with a very strong attack).  Worse would be 22...Bf6  23 e7, Re8  24 Bxf6, Qxf6  25 Qxd5 winning.

c)  Losing by force but is there anything better?  26...Bd7 loses to 27 Qh5+, Kf8  28 Bxf6, Bxf6  29 Qxh7 mating.  Best seems 26...Ke8  27 Bxf6, Bxf6  28 Qxf6, Kd7  29 Qg7+, Kd6  30 f6! Bd7  31 f7, Qc8  32 Qd4 (threat Rg8) & Black’s position is not enviable.

d)  If 29...Bxe6  30 Rxf8+, Qxf8  31 Qxe6+, Qe7  32 Qc6+ wins the rook. 

SOLUTION:  1 Rxg7, (deflecting the queen from protecting the bishop) 1...Qxg7  2 Qe8+ (fork), Kf5  3 Qc8+, Kf6? (if...3 Kg6  4 Qe6+ (fork) 4 Be5+! (skewer/deflection), Kxe5  5 Qc3+  (skewer), K moves  6 Qxg7.

